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INSTRUCTIONS

Answer all questions,
All questions carry equal marks.
Only ane answer is to be given for cach queslion.
If more than one answers are marked, it would
be freated as wrong answer.
LEach question has four alternative responses
marked serially as 1, 2, 3, 4. You have to darken
the correct answer.
There will be no negative marking for wrong
answer.
The candidate should ensure that Roll Number,
Subjeel Code and Serics Code on the Question
Paper Booklet and Answer Sheet must be same
after opening the envelopes. In case they are
differcnt, a candidate must obtain anoiher
Question Paper of the same series. Candidate
himself shall be responsible for cnsuring {his.
Mobile Phone or any other electronic gadget in
the gxamination hall is stricily prohibited, A
candidate found with any of such objectionable
material with im/her will be strictly dealt as per
rules,
The candidate will be allowed to carry the carbon
print-out of OMR Responsc Sheet with them on
conclusion of the examination. :
If there is any sort of ambiguity/mistake either
of printing or factual nature then out of Hindi
and English Version of the question, the English
Version will be treated as standard.
Warning : If a candidate is found copying or if
any unauthorised material is found in
his/her possession, F.LR. would be
lodged against himv/her in the Police
Station and he/she would liable to be
prosccuted under Seclion 3 of the
R.PE. (Prevention of Unfairmeans)
Act, 1992, Commission may also
debar him/her permanently from all
future  examinalions of the
Commission.
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1 The acronym PESTLE, STEEP and PEST are closely associated with :

(1) Contextual environment
(2) Internal environment
(3) Micro environment

(4) All of the above

i@t =W (PESTLE), €17 (STEEP) U§ ® (PEST) P &7 @
il ¥ - |

(1) =ity s 4
(2) oraf@ a@ERw
(3) g IEERT @

@ Swdw a8

2 In developed nations the nature of fiscal policy is usually :
(1) Expansinary policy
(2) Activist policy
(3) .Stabilising' policy
(4) Deflationary policy
Rearr U1 A T A B oy A E
(1) Trore AR |
(2) wltrgamaEl (Activist) i
(3) Tl N
(4) oawhifa e

: R
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3 Which of the following is not properly matched ?

(1) Bank rate — 9.00%

(2) Cash reserve ratio — 4.00%

(3) Repo rate — 6.00%

(4) Reverse repo rate — 7.00%

P ¥ & drow ke g T8 3 7

(1) <% T - 9.00%

@)
G)
4

)
@
@)
@

THE BT ST — 4.00%
I T — 6.00%

I@e W & — 7.00%

Export led-growth strategy was adopted from plan in Indian economy.

Third
Fifth
Eight |

Sixth

ot

1) s

(2) Ui

G)

IGT]
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5 Economic reforms stabilising policy measures in India do not include :

(D
@)
3)
(4)

Market based pricing
Controlled budget deficit
Liberal trade policies

Balance of payments correction

R F, o g A Rt i ot ¥ we

(1)
2
(3)
(4)

IR AR Aferat

T G F gu

6  If selling price per unit Rs. 40 and variable cost is 40% of sales and
fixed cost Rs. 4,80,000 for the year. What will be the sales at 60%
margin of safety ?

(D
()
()
()

Rs. 16 lakh
Rs. 20 lakh
Rs. 24 lakh

40,000 units

aft Reea qea why 39E 40 @, qA AR W R B 40% ¥ qe
f%wawmat,so,oooa?nﬁha%rﬁo%g-{m@rmwﬁmws“hﬁ?

(D
(2)
G3)
(4)

16 1@ .

20 W@ %,

24 919 §.

40,000 wEYl
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A, B and C were pagfners sharing profits and losses in the ratio of 4:3:2.
C retired on 15! October 2012 on which date the capital of A, B and C after
all necessary adjustments stood at Rs. 60,000, Rs. 75,000 and Rs, 45,000
respectively. A and B continued to carry on the business for 6 months without
settling the account of C. During the period of 6 months ended on .
3]St March 2013, a profit of Rs. 50,000 is earn_ed by the firm. What will be
the amount payable to C for his unsettled amount on 31 March 2013,

if there is no agreement between the partners regarding this situation -~
(1) Rs. 1,350

(2) Rs. 11,111

(3) Get either Rs. 1,350 or Rs, 12,500 at his choice

{4) None of the above

o, & 9§ 432 F @iw o S §¢ aER ¥ 9 uw ampgEr 2012 Prge
gon wa R @l gt & wooe U, A A W g wE 60,000 %.,
75,000 ©. & 45,000 5. M1 T, & Fw 67w A H @R w Froerw A e
ST A W@ E 31 2013 F wrE e el wael ¥ Wi 50,000 7.
AT AR ¥ 131 A 2013 & W@ @ oud abrnite v T = Tl 3 &,

o RERT % S 5w eRRER ¥ PR ¥ R aumd & 9 3 age
qﬁ % B P e e

() 1,350,

() 1,111

(3) 9% W ¥ TR a 1,350 5. W w @ Jgdq 12,500 T

(4) T A Y

&

KRN 1Coned..
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8  Working Capital of a compahy is Rs. 21,28,000 and total debts are
Rs. 42,50,000. If the company's longterm debts are Rs. 27,30,000, then
current ratio will be :

(1) 078:1
(2 14:1
(3) Li4:1
@) 24:1

B TaT 21,28,000 5. T T 0T 42 sooooa ¥ 13l T & Dl
F 27,30,000 %. ¥ At €I S T G e

1) 078:1
2 14:1
3) 1l.i4:1

@ 24:1

9 While preparing statement of affairs of company which has gone into
liquidation, in schedule 'A' items are shown -

| (1) Assets specifically pledged
(2)  Assets not specifically pledged
3) Preferential creditors

(4} Unsecured creditors

angﬁmwﬁqﬁrﬁmaﬁﬁw@‘q’ﬁﬁ@ﬁ
¥

(1) wufea < fafins v & fredt ey w§ ¥ |
Q@) Wﬁﬁﬁmm@rﬁmﬁﬁ‘@r‘ﬁ?
@) T FRR |
(4) srgilE e

203/ COMMER_A] 7 m"ml""mmmu [Contd._..
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As per AS-14 amalgamation may be :

(1) nature of merger only

(2) nature of purchases only

(3) either nature of merger or nature of puréhase

(4) None of the above
W—M%a@n@a—mam%,
() faem & wglv @1

(2) T B AH B

(3) e & THR & S HI BT D@
(@) S F ¥ B T

In practice the business firms follow the approach of

(1) Profit maximization

(2) Normal profit

(3) Limiting -proﬁt

(4) Wealth maximization

wEER ¥ ameaiE B e H T FA ¢
(1) w iy

(2) wHF TR

() dim T

@) iy sfemaE

o8
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12 If the substitution effect is weaker than income effect, the demand curve

will be :

(1) Positively slopped (2) Negatively slopped

(3) Horizontal (4) Vertical
ﬁmmmwﬁwﬁaﬂw%a’rwwm
(1) @S o 9w (2) FOTEE BT G

(3) ffersira | () v

13 The first condition of consumer equ1hbnum as per mdlﬁ'erence curve
approach Is

» M?Sxyéﬁf,f
@ @H=%

3) MRSH=%UU—;‘:*2,( '
@ MRSy =L = L

SRIET T RSSO & orgar SwHeRT O @) wuw o ¥

W Mmﬂ:%ﬁ N
. MSX}’=%{
3) MRSH=%§=Z,—X
@ MRSy ==k
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14  Which of the following is incorrect about long run average cost curve ?

(1) Tt is known as envelope curve,
(2) It is planning curve for firm.
(3) It is generated by short run average cost curves.

(4) None of the above

B % & - A e o ¥ e ¥l W
(1) =8 WMo a% % w9 ¥ S o b

@) %-.Wﬁﬁrﬁﬁﬁﬂﬁ%l

() & IR T AR TH § IAT B T

@ vgw ¥ ¥ B A

15 The Sweezy Model of Kinked Demand Curve in oligopoly market explains :

(1) Price rationality |
(2) Price restriction
(3) Price rigidity
(4j All of the above

- e R ¥ g | aw @ el wew e o ¥
(1) o fRsshear
(2j Hd uf%ra-a |

@) W e
4) SogEr T

203 /COMMER A] 10 ' [ﬂml “m"m lm m[ [Contd...
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16

17

In a large population with heterogeneous charactenstlcs the most appropriate
method of sampling to be used -

(1)  Stratified sampling
(15,) Random sampling

(3) Deliberate sampling
(4) None of the above

W%WWWW%W%WWW%
BN W W

(1) wiw whmeaw G

(2) uxhes wiwea Oy
(3) whER shes A
@ v § § B

N

e N

Which of the following is/are source of bias during ‘sample investigation ?

(1) Faulty selection of sample

(2) Faulty collection of information e

(3) Faulty analysis and interpretation vithin -

(4) All of the above ot e .

wfewe orgerd F e o wi it S Radmo 8 '
(1) whrst F vy g | '

() sraget fyemaer § Frdes

@) 'auflaa s

203/ COMMER _A] 11 IR IContd...
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19

In a question of correlation the value of r is 0.64 and its probable error is
0.1312. Find the value of N.

1y 3 @ 9
(3) 36 _ (4y None of the abovg

e ¥ uw wed §, v @ qEd 0.64 qun e favm 01312 ®)
N %1 7 T &A|

(1 3 @ °

(3) 36 @) wE ¥ ¥ B T8

Addition theorem is applicable when :

(1) Events are mutually exclusive

Q) Events are Independent

(3) Events are Dependent

(4) None of the above
TR W TR e E

(1) v TR s o
2) ged was o

@) "o ol &

(4) TR ¥ § By &

203/ COMMER A 12 [AEIGRIRY iComtd...
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20 Which of the following is/are constants of bionomial distribution ?

1 X =mp @) o=\npg
3) Wm=0; uy=npq (4) All of the above

Fraifed & & 2 fowe s ¥ ot g ¥/ P

) X=n @ ¢ = Jnpg
() Wm=0; uy=npgq (4) STied a

21  Techniques of managerial control are useful in -
(1)  Selection of plan.t location
(2) Identifying appropriate technology
(3) Identifying gap between expected and actual performance

(4) Conducting shareholders' meeting
T T @ ae %aﬁ THETES £ 7
(1) <45 @& #1 W=

(@) SR deife o e

3) . il e arele weelt ¥ e TEaEE
(4) SigT - ureEt A Ao w1 amie

203/ COMMER A| 13 MRTIEY (Contd...
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23

203/ COMMER A] 1

The function of attractmg, retaining and developmg human resources in an

organization is called -
(1) Recruitment (2) Induction
(3) Training and development (4) Talent Management

Wwﬂwwaﬂﬁaﬁﬁam uﬁw%&waﬁtﬁﬂm
S & G B BEd & —

M o (2) aftrsTE

(3) wiyEvr g fawwr | 4) W wEET

Which one of the following is not covered under corporate governance ?
(D Corporate social responsibility
(2) Business ethics

(3) Role of independent directors

Pt

(4) Government monitoring

Frafaflaa & & S Fue TETw F idfwa T ¥
(2) =AEEaE AT

(3) waw PRyt At giem

(4) W@ gRE

[ %

N [Contd..
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24 Which one of the following was not main contribution of F'W. Taylor ?
(1)  Scientific ‘ Management
(2) Time and motion studies
(3) Differential wage plan
(4) Moderﬁ management
ﬁwﬁ%ﬁﬂ-_—m%t{tﬁ. &, W W J& dTeH TE ¥
(1) =t w-*q.
2) ¥¥ ug nf%r BRI
() T wogd A
@) e Ty
25  The managerial function of staffing is most closely related to -
1) Coﬁtro]ling (2) Leading
(3) Marketing (4) Organising
whard wf (@) w1 veudE o waite i ey d
gt ¥
(1) s 2) A=
ONRCLLLS @ e
ZOBICQMMER;A] 15 | IIIHIIIIIII_IIIIIHIIHII [Contd...
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26  The strategy of introducing a product with high introductory price is called :

(D
@
()
(4)

Penetration strategy
Skimming strategy
Pull strategy

Push strategy

TF TAR B I TAN-TA F WA G ¥ S A OHRRT
&ed 8 ¢ | -

(D
@)
€))
@)

A OIS

WA IAA AT TEIRT
e &l o
A B O

27  Which out of the following is not a type of non-store retailing ?

)
@
3)
“)

Linmited line stores
Automatic vending
Direct selling

Telemarketing

e 7 & S| TT-RR few] g & yer w8 ¥ ?

(M
@)
[€)
)

Wit df w©R
wr afe T
LRGAEED]
Eei—meh e

203/ COMMER_A| 16 (EIRINNEG (Contd...
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28 A product line strategy wherein a company adds a higher priced product to’

a line in order to attract a broader market which helps the sale of its existing

lower priced products is called :
. (1) Trading up

(2) Trading down

(3) Life ;:ycle extension

(4) Product line extension

mﬁémﬁ.ﬁaﬁqﬁw—mfmﬁra\m%ﬁqmﬁaﬁﬁﬂs?ﬁ
& it fonga TR &Y ormmia frr o wh Rred Ted ada B9 S
T A F T B wgEr PR, 9w Wil @ med ©

(1) =T =R

(2) ST AR

—_———

(3) S9E @ SaT-gw R
4) var ikm

- 203/ COMMER A 17 AEAAMITHERR (Contd...
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29  Market gridding means -

(1)  Establishing and running a Web marketing facility
(2) A method of survey of expert's opinion
(3) Managing brands and developing brand equity

(4) An imalytical technique which facilitates dividing a market into

segments
SR BT @1 e 3
(1) AeaehRe gier o e qur dar
(2) fadslt % ferd % wdewr o v By
() = @ vEy g s sRed @ R

4 Wﬁ%ﬁm%ﬁrﬁﬁﬁrﬁﬁﬁ%ﬁaﬁ%ﬁsﬁ@maﬁm

203/ COMMER 4] 1 NI (Conta..
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30  Assertion (A) : "Advertising plays a vital role in selling products/services”.

Reason (R) : "Sales promotion is incomplete without a good advertising

plan.”
Codes:
(1) (A) is correct, but (R) is false.
(2) (A) is false, but (R) is correct.
(3) Both (A) and (R) are correct.

(4) Both (A) and (R) are false.

. oftmee (A) : “awgel [ Aenel @ Rt § Rig weeqel i
Framan 20

R (R) - “wﬁamzﬁw%fam&mwaw%r*
__F‘

(1 (.A)Eﬁr%, g (R) fie 31

@) (A) P ¥, g ®) @ ¥

G) (A 9iR R) 2w ¥

@) (A) @R (R) A Tre ¥

Y-~

203 / COMMER_A] _ 1
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31

32

Which of the following is incorrect about horizontal capital structure ?
(1) Zero debt component in capital mix.

(2) Expansion takes place through equity or retained earnings.

(3) Absence of financial leverage.

(4) Presence of high financial leverage.

frer ¥ § S Rt §o g & T ¥ T §7
(uﬁwﬁﬁww

() Traw @ @ TReRE o @ S

¢) T rﬁ?rm B argaRafd

@) v Pl sdad @ suRaki|

Below operating breéik even point, degree of operating leverage 15 :
(1) Positive

(2) Negative

(3) Equal to one

(4) Infinite

v G0 R g @ A aiaws Sawd @ S g
(1) D

(2) =RIMHD

(3) UF B TEH

4y AT

203/ COMMER_A] 2 MR (o
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33 'Hurdle rate' is also known as

(1) Minimum required rate of return

(2) Cost of capital

(3) Cut off rate

(4) Al of the above

qE T & ®1 ¥ W IR 3
(1) T & R wiid &

@ ol @ wrw

() W IME T

@) sugdw w

34 Investor's method of capital budgeting is known as
(1) Interna! rate of return method
(2) Pay back period method
(3) Average ra‘;e of return method

(4) Net present value method

gl worew o Rifrden Rty &t s s ®

! (1) s o sraie o Ul & s o)
l | @) e eafy faft % ww 1
| (3) ofea wem & fafy & s §)

(4) g5 udaE T fafta & s )

203/COMMER A] 21 TN fconed...
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35

36

For a firm which has rate of return on investment (r) greater than cost of

equity capital (Ke), the most suitable retention ratio of the firm will be :
(1) Zero

@) 100

(3) 50

(4) Can not be determined with given ir-}fonnation

s o, Rred fifrr W g % @), w3 (Ke) & s
%, ol ¥ R waffs STE A S W

()

2) 100

(3) 50

@) ﬁﬁw%ﬁﬁﬁaﬂﬁmmm%l

The Industrial Disputes Act, 1947 provides the following industrial relations -

machinery for resolution of conflicts except :

(1)} Conciliation (2) Arbitration

(3) Negotiation (4) Adjudication

et e s 1947 3 aret Rl 3 Preeit g Preite 3 3
HE e ¥

1) e @ wemEw

(3) witam (4) arfufeRE

203/ COMMER A] 2 I (Contd-
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38

203/ COMMER_A] . 2

The Government of India introduced "The Workers' Participation in
Management" Bill in Parliament in :

(1) 1983 ' (2) 1988
(3) 1990 @ 1981

ARG G § 968 § “Uey § HHainal & weieil”’ & {9 uwga
fomar am —

(1) 1983 (2) 1988
G3) 1990 @) 1981
Statements :

(i) Fringe benefits, now-a-days, are a significant component of "salary
package". '

(ii) Under piece-rate plan, employees are paid at a stipulated rate per hour
of work done by them.

(1) Both (i) and (i) are correct

(2) Both (i) and (ii) are incorrect

(3) (D) is incorrect and (ii) is correct

(4) (i) is correct and (ii) is incorrect

HUT

() oeThe SR WIN Ao ' UH Hewaql o ¥

(i) PE-TX G & oiETd FHAEl B Sk g Y T g g
afer T W & €% § e Rean S |

1) @) wd (i) 3 w1 ¥

) () w (11) T TG

(3) (@ ™a ¥ AR (i) w& T

@ () w T el (i) T ¥

[P}

[ ‘[con'w..._
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39  Match the items in List I with items in List I :

(a)
(b)
(©
(d)

List 1

Peter

F. Drucker

F.W. Taylor

Henri J. Fayol

Hugo Muansterberg

Codes :

(D)
@
€))
“)

(@

®
®
(v}
(iii)

® © @
() @i) )
Gy Gv) Gib)
(i) () @
@ v ()

List I
(i) MB.O.
(i) Scientific Management

(iti) Universal Principles of Management

~ (iv) Functional Theory

-1 7 7 & gl e e d REr Y
-1
deT Uh. 6]

M
2
()
(4)

TF. T&, X
FQ W, WA
T e

@)
@)
@
W)
(iii)

® © @
Gy (i) (iv)
G) (v) (i)
@ @ O
@ v @)

203/ COMMER_A]

q-11
() M.B.O. (Tadtan)
(i) i T
(i) WS % wEHhE e
(iv) s Reer

2

IARIRNERI EComed...
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41

42

Who has introduced the "Seven Point Plan" for taking the best interview
method 7

(1) Milton L. Blum

(2) FE. Burt

(3) Prof. A Rozar

(4) Filippo ' _

TR A w qdds e Cud fag deer @ ko fee R ?
(1) P T wH o

2 TH 3w

(3) WU O

4) Tl

The first established Presidency bank in India was :
(1) Bank of Bengal '

{2) Bank of Bombay

(3) Bank of Madras

(4) Bank of Baroda

aRa A wan wite TS g6 o

(1) 9% 3N® W

) = oG AW

(3) d% e AR

@) % ow WS

'Off Shore' banking refers to banking operations that cover :
(1) Only non-residents and excludes domestic banking.
(2) International Banking transactions.

(3) Non-residents, including domestic banking.

(4) Domestic and external banking.

‘o S AR @ e o SRR Brm wwd 4 ¥ Rt ftaiia €
(1) aw afrr gor fred g 3 aafem @ ¥

() e ST EER|

(3) o, fay e 3 whnlaa ¥

(4) o @l T S

203/ COMMER Al 25 ITEHMEY (Contd...
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43 Choose the correct match for BASEL norms :

(1) Pillar T — Market discipline
Pillar TI — Capital adequacy
pillar ITI — Supervisory Review

(2) Pillar I - Supervisory Review
Pillar I — Market discipline
Pillar 111 — Capital adequacy

(3) Pillar T — Capital adequacy
Pillar 11 — Supervisory Review
Pillar TII — Market discipline

(4) Pillar I - Market discipline

~ Pillar II - Supervisory Review
Pillar TII — Capital adequacy
BASEL 9 % Rig g gafe & o HiTg
(1) R 1 - TR TgaEd |
| firere 11— o0 vt
firere T — weideta Tt

2) TR 1 - wiEeta g
BT 11 — IR STIMET
Reere [T — doft G

@3) e 1~ gei wai
Rrat I - wddaoia i
fire T — SR AT

(@) fER 1 - IR SPAET
fiere 11 — weel @i
freT 11 - el waraat

=

203/ COMMER_A] 2

MG FConed.-



2038 2034 2034 2034 203 2034 2034 2034 2034

44 In India banking sector reforms do not include :

(0
(2)
€)
)

Deregulation of interest rates
Progressive increase in pre-emptive reserves
Liberalization of branch expansion policy

Prudential norms for capital adequacy

e o S gurt A wiafeg w8 ¥

(1)
@
)

(4)

T % @ AT
TR B ¥ Wi o
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45 MFDF stands for :

| M
@)
€))
4)

Mutual Finance Development Fund
Micro Finance Development Fuand
Marginal Farmer Development Fund

Multilevel Finance Development Fund

MFDF %! qui free &

(1)
(2)
(3)
“4)
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The international trade takes place because of
(1) Reiative cost difference

(2) Absolute cost difference

(3) Equal cost difference .

{(4) Relative and absolute cost difference

ST % ey waiE o ¥

(1) unfes e S

@) s arE el

(3) T QO

(4) witae wa FdE W e

Which of the following is not correct about balance of payments ?
(1) It is prepared in statement form

(2) - Debit side denotes payments and credit side receipts

(3) Itis aiways balanced and favourable |

(4) Tt can be favourable or unfavourable

fomr % A A g dge & we ¥ w37

(1) 38 Rrager wEw ¥ S ST ¥

2) Wuawaquawmﬁﬁa‘fﬁw%!

() @ wia i T HgEe aal ¥
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49

50
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Which of the following is not an objective of International Monetary Fund ?

(1) Stability in foreign exchange rates
(?) Removal of exchange controls
(3) Promotion of bilateral trade agreements

(4) Promotion of multilateral trade agreements

R ¥ ¥ AW oS E B B ey T 87

(1) PR Rifee o A Raw
) fTafma Frewet @ e
() ol @mR geEE B ST
(4) wEIRE YR FNEEl bl W

Tick out the wrong match :

(1) IMF chief — Michael Jordon

(2) World Bank chief — Bertrand Barde
(3) WTO chief — Roberto Azevedo

(4) ADB chief — Takehika Nakao

wea ghfea @ fafes A ¢

(1) o T Oh gRaE — WEERE ST
@) P ¥ gfem - wEs TR
@) =g sl g - Tﬁﬁqﬁ%ﬁ
@ TR ghaa - R el

Which of the following has the highest trading share in Indian foreign
trade 7

(1) OPEC Nations (2) Eastern European Nations
(3) OECD Nations (4) Developing Nations

Py ¥ ¥ WRT ¥ RRo e ¥ R o iy waitue w7
(1) i (OPEC) T @ T Tl T

(3) g (OECD) T 4 fammsie T2
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